Tile roof installation straps
Eykataotaon og KEpOULOL TOEPKLAL

Straps distance/Anootoon ToEpKLWV

SB160SS: Width/NAdtoc: 435-635mm Length/Mnkog: 1900-2100mm
SB200SS — SB230SS:  Width/MAdtoc: 560-760mm Length/Mnkog: 1900-2100mm
SB30SS: Width/NAdtog: 775-975mm Length/Mnkog: 1900-2100mm

Sub-frame 1
YriomAaiow 1

Sub-frame 2
YriomAaiowo 2

Attention / NMpoooxn

Centered/Kevtpaplopévo

Attention / NMpoooxn Installation of sub-frame 1 to sub-frame 2

Do not tight the bolts on the upper aluminum profile TonoB@£tngn Tou yronAaigiou 1 0To UNOMAQICIO 2
Mnv odivéete Tic Bidec oTto mavw noodil aAovutviou 7 ®

4

Bill of materials AioTa uhikwv SB160SS SB200SS SB230SS SB300SS
L bar 2000mm Mwvia 2000mm 2 2 2 2
L bar 1370mm Fwvid 1370mm 2 2 2 2
L bar 1120mm Fwvid 1120mm 2 2 2 2
L bar 765mm lwvid 765mm 2 - - -
L bar 1000mm lwvid 1000mm - 2 2 -
L bar 1440mm lwvid 1440mm - - - 2
U tank U otnpiéng detapeviig 2 2 2 2
L tank L amipigng SeCapevig 2 2 2 2
Aluminum pr 1030mm MpogiA ahoupiviou 1030mm 2 2 - -
Aluminum pr 2000mm MpogiA ahoupiviou 2000mm - - 2 2
Bolt M10X25 Bida M10X25 18 18 18 18
Flat washer M10 PodéAa M10 32 32 32 32
Nut M10 Maguad M10 26 26 26 26
Sink bolt M10X20 Bida @pedatn M10X20 8 8 8 8
Anchor bolt M8X50 Z1pigwvi M8X50 4 4 4 4
Tank protectors (optional) | MpoatareuTikd deapevig (TpoaipeTIkd) 4 4 4 4
Stainless steel straps Avotgidwra To€pKia 4 4 4 4

SAMMLER B. Michalopoulos AEBE-Al rights reserved-No liability for changes/modifications-Only for installation purpose Version 13.2016




Tile roof installation straps Closed loop connection with fiber instalatonof th /P vale

TonoBétnon aodaAlotikol

’ 7 7 ’ ’ ’ niieong/Bepuokpaociag
Eykataotaon og kepapidla togpKLa 2UvOeon KAELOTOU KUKAWMOTOG LLE PLUTIEP

JJ All valves must be drained according
to regulations
'OAeg oL aodariotikég BarBideg Oa
TPEMEL VAL ANOpaoTeUOUV cUpPWVa
LE TOUG KOVOVLOHOUG

f| \ \/\ FFQ g .

Back view — MNiow oyin

=

N
0
@

Eﬁg ) T

The hot from collector pipe should have upward direction
O owArivag tou Jeotol armo GUAAEKTN TIPEMEL va €XEL OVOSIKNA
katevBuvon

For models A230 and A308
Mo povtéha A230 kat A308

Push inside the collector and tight well
Miéote péoa otov cUAAEKTN Kal odifTe KaAd.

Bill of materials AioTa UAikwv IK168FB | IK169FB | IK208FB | IK228FB | 1K230FB | IK308FB
Safety valve 3 bar AcpahigTikd 3 bar 1 1 1 1 1 1
The front cover is optional. The tank’s openings should be vertical to the ground. Nipple %"M X ¥2"F ZuaToAr apepikic %"M X V2"F 1 1 1 1 1 1
| H pipootuvi odLd eivat tpoaupetik. Ouomég tng defapeviig va eivat kiBeta oto E6adoc. Safety valve 6 or 10 bar AogahigTik 6 / 10 bar 1 1 1 1 1 1
2 /v Nipple %"X %"M MaoTég %~ 1 1 1 1 1 1
Plug %" M Tama % A 2 2 2 2 2 2
Safety valve T/P (optional) Ac@ahigTikd TTieang/Bepuokpaaiag (TrpoaipeTikd) - - - -
Elbow %" X %"M Twvid %" A 2 2 2 2 2 2
Compression elbow @22 X %" M Fwvid pnxavikng auogigng @22 X %" A 2 2 2 2 2 2
Compression plug @22 Téma unxavikig alo@iéng @22 2 2 2 2 2 2
Compression connector @22 X @22 Pakop pnxavikig auoiing @22 X @22 - - - - 2 2
Fiber gaskets Qipmep 4 4 4 4 4 4
Insulated stainless steel pipe DN16 (short) | Movwpévog avot. awhivag DN16 (kovtog) 450mm 550mm 360mm 400mm 850mm 650mm
- Insulated stainless steel pipe DN16 (long) Movwpévog avot. owAfvag DN16 (uakpig) 2350mm | 2430mm | 2250mm | 2350mm | 2750mm | 2600mm
1 Push inside the tank and tight well Long pipe holder ITPIYUa CWARvVa 2 2 2 2 2 2
Migote péoa Ty Sefapevr) kaw oditte kahd. Thermal fluid ANTIFROGEN SOL HT (It) AvtigukTikd ANTIFROGEN SOL HT (It) 1 1 1 1 1
/ -~ \ 7 ‘\ - SAMMLER B. Michalopoulos AEBE-AIl rights reserved-No liability for changes/modifications-Only for installation purpose Version 13.2016




